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DS1

0

01234567 8 910111213141516171819

Notes
Moyenne : 8
Médiane : 6,6

DS 2

123456 7 8 910111213141516171819

Notes

Moyenne : 9,2
Médiane : 8,3

DS 3

123456 7 8 910111213141516171819

Notes

Moyenne : 10,7
Meédiane : 11
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DS 4

1 23 456 7 8 91011121314151617 18

Notes

Moyenne : 10,1
Médiane : 10,1

DS 5

01 2 3 456 7 8 9 1011121314151617 1819
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Notes

Moyenne : 8.6
Médiane : 8.3

DS 6

123456 7 8 910111213141516171819

Notes

Moyenne : 10,1
Médiane : 10,1
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DS 7

1 2 3 456 7 8ﬁoé%111213141516171819

Moyenne : 10,1
Médiane : 10,2



